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A at is the difference between 34343 and 12127 1 i iti 1
- 16. The number 2002 is the product of exactly 2 pusitive primes. | 16.
A) 1
)y 13133 B) 22223 C) 32222 D) 33131 A) 2 B) 3 C) 4 D) 5 :
2. (100 — - - -
;002 0 40) + (90 — 30) + (80 — 20) = 3x 2. 2 17. Counting 3 million birds at a rate 17.
) B) 60 C) 80 D) 180 of 80 birds per minute takes
3. When (9999 + 999 + 99 + 4) is divided by 9, the remainderis | 3. , A} 470 minutes B) 625 minutes
Ay 1 B) 3 C) 4 Dy 5 C) 2500 minutes D) 37500 minttes
4. Divide one million by five hundred thousand. The quotient is 4, 18. (103 Xﬁlmgz * é%ozx 100) +03(1010§ ) 1= e
A) 10°+10%+10% B) 2x (10°+10°+10
5 ;‘) 2 93 _ 2 ZBI) 1015 ? == 22 C% 10'2 D)) 109(+104+101 )
L2222 =16 - 2 5. 19,
A) 1 B) 2 Q) 14 D) 15 19. Of the following, which has the greatest value? 19.
6. Jo s the 12th of 25 people to get h A) 20% of 80 B) 25% of 65 C) 30% of 50 D) 35% of 35
- Joisthel ple to get her pen 6.
“biggie-sized” at McBurgers. How e 20. How many different whole numbers are factors of 1207 20.
ma(rilyhpeo tllf are there between Jo A) S5 B) 11 C) 15 D) 16
and the person on line?
A)11 By12 Q)13 D)u4 21, If the product of 3 whole numbers is even, their sum must be 21.
7 What is the sum of the first four odd whel bers? 7 A) F¥ER B) odd C) prime T Sgle
: our odd whole numbers? . '
A) 6 B) 9 C) 10 D) 16 23. What is the sum of 5 numbers whose average is 5 more than 57 |22
8. ;\;hgt is the tens;?’;iig'it of the product 22 222 x 222227 8. - :) 11:: " :)125 thC) :O(p ” L N P
6 C) 4 D) 2 . For the whole numbers, the ratio (primes):(€ven nUMbEIs} 15 | 43,
o 8777 — 7778 = 444 + 2 3 A)15:25 B)1625 C)15:35 D) 16:34 ,
A)445 B)455 C)545 D)555 24. J(_25—9)+(25—9)+(25—9)+(25—9) = 24
10. Altogether, if 12 of our small ele- 10. A) vix1e B) 4x /16
phant balloons weigh 130 kg, then 72 C) 6 + vI00 D) vi00-v36
of these same balloons weigh 25. After Sam spent 35% of his money on a ift 25
‘8 ;'(;?) lligv BD) %‘Z(;l;g he had $13 left. How much did the gift cost?
g ) g AYS6 B § 50 D) §B
(1. 500 is mi
A) Zlg'omlg;v 6?(,) be(t:;v;;(r; 355 ?53 7 11. 26. The largest whole number which satisfies 2_:7 < 7:16 is 26.
) M2 B3 O4 DS
2. Th b j i i
A) e$1;um a0l d;;m;zm i equalcs tt;el[;mmber ot GUACLErsin 12. 27. The 5th of 9 consecutive whole numbers whose sum is 153 is 27.
) D) ya0 A) 9 B) 13 Q) 17 D) 21
3. How many different positi
N w4r any erBe)n 5posmve factg;‘s 2re Common ;)0 3: and 487 | 13. . 28. The sum of any 3 angles of a rectangle is 28.
) A)120° B)180° C)270° D) 360°
4. The smallest composite number without 2, 3, or 5 as a factoris 14
L ’ 29, Jack was 8 when Jill was 2. Now 29.
A) 41 B) 49 C) 67 D) 77 ' that Jack is twice as old as Jill, he P Vs
5. The average of sixteen 4s, times the average of four 165, equals |15. 1'15‘}::3(3*11[18;;?11'8_&10\!\?;0 ice skate. P
A) 4x16 B) 16x16  C) 16x64 D) 64x64 A)ss‘m;a;’g ‘é;‘?;“‘;‘;‘g TR ol
50 Go on to the next page i 6 ' 51 Go on to the next page iy 6 ’
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30. The product of 4 different whole numbers could rot equal 30.
A2 B2 X D2

31. Each of 5 bikers sang a duet with each of 31.
the others, A total of ?_duets were sung,
A} 10 B) 15 ) 20 D) 25

32. 200° + 100° = 200 + 2 32.
A) 100 B) 80 C) 25 D) 8

33. How many whole numbers less than 1000 are not divisible by 4? 33.
A) 875 B) 850 C) 800 D) 750

34. If the sum of 2 whole numbers is 76, their product is at most 34.
A) 5776 B) 5700 C) 1444 D) 1443

35. Between 1901 and 2001, it was possible for a period of 5 con- 35.
secutive calendar years to contain a total of ? days.
A) 1825 B) 1827 C) 1828 D) 1830

36. A plane left New York at 2 PM. 36,
and landed in Vancouver é hours
later. If New York time is 3 hours
ahead of Vancouver time, when did Py
the plane land, in Vancouver time? LN, TS g
A)y 11 PM. B) 9 PM. C) 8 EM. D) 5 BPM.

37. If a radius of one circle with area 167 cm? is used as a diameter 37.
of a second circle, how far apart are the centers of the two circles?
A} 2cm B) 4 cm C) 6em B) 8 cm

38. IfSI +52+...+ 100 = 3775, then 101 + 102 + ... + 150 = |38
A) 8775 B) 7550 C) 6275 D) 3825

39. The sum of 1999 positive whole numbers is 2002. What is the least | 39.
possible number of Is that can be used as addends in this sum?
A) 1995 B) 1996 C) 1997 D) 1998

40. What is the name of the only regular polygon which has as 40.
many diagonals as it has sides?
A) square B) pentagon () hexagon D) octagon

The end of the contest &7 ©
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